e R E#RT

A==V LIIE BAA T (300%100%1300)

1,300 | 1000 1,300 | 1000 1,300 | 1000 1,300 | 1000 1,300 |
} } } } } 5528 KBA4T
| Lo |
-/ N\ / N\ / k ______ _/I k____ —/ k____ —
—- - - - - - o H e I o g
T T T T T T T T T T Vo c"\_
| Y| Y|
| Lo Lo
S , , | Lo Lo °
= =| == == S
= | Lo Lo =
A | Lo Lo
- g J g J L ______ _/I L ______ _/I L____ r
v 1 _ _ 1 _ _ 1 1 g
o) g
\ e N\ e N\ f—___u___ f—___u___ - i ‘W—
| ] 1 M s
A
o i i | Lo Lo D10 °
= A A = == == S
- | L] L] =
| Lo Lo
) 1L J 1 J | __ N I I a
N _ _ _ _ i i =
i N N ___ N
T\ e T\ e T\
| A AR
| L] L] vh—
o ! ! | | | | | @ 16%400L o
= = == == =
~ | L] L] =
| Lo Lo
- 1 . J 1 . J L ______ _/I L ______ _/I L____ r
N _ | _ - | I g
| | . Fr T~ ___ N
1300 1300 1300 1300
BEERMBARRE (O 4n * 18.5m & LTEE)
HHEE 1 100m72%4 Y #58 EL A
52 &48 $2.0 * 50 % 50 140m2 100m2 * 1.4 = 140m2
KEY @16 * 400L 30K 37/10m * 100m2 = 304
INEY ®9 * 200L 1504 152%/10m * 100m = 1504
X 5 BHGE 9 Im/ 1.3n+ 1 = 8K
D10 87 * 18.5m * 14 = 148m
5528V EBALT R D10 108. 88ke HEEE 18.2n/ 1.3m+ 1 = 15K
15 * 9 4m * 1A = 141m
‘ {(148n + 141m) * 0.56ke/m} / (9.4m % 18.5m) * 100 * 1.17 = 108. 88k
ELALBRSY [ —O—T 74 N—FE -
= EREICIRT OERET 5.,
- F7PUh— ®16 * 400L 70K 84 * 4% 15457 = 120577
S 120458 / (9. 4m * 18.5m) * 100m = 70K
2 5524 K HRERES 18.2n/ 1.3m % O.1m / 1.3m + 1) = 1124@
3333 300 * 1008 12508 GRERER 9.1m / 1.3m* (18.2m / 1.3m + 1) = 1058
(11248 + 1058) / (9.4m * 18.5m) * 100m® = 125/
A
G PRERE 134 / 360 * 7 % 0.1632 - 0.30 * (0.163 - 0.10) / 2 = 0.0216m
#E 9.4m * 15K + 18.5m * 84 = 280m
203 ﬁ“’f&'&?"’ b300 * h100 3. 23m° TEEFEIRAET  0.00520°/1 477  (3RFTCADIZ & Y SHH)
0.0052m® * 84 * 154 = 0.62m
300 100m224 U 4% (0. 0216m * 280m — 0. 62m) / (9.4m + 18.5m) * 100m? = 3. 23m
, 0.30m * 280m — (0.30m)2 % 84 FF * 154 = 750
HNILEER 56. 4m 100m — (75.0m / (9.4m % 18.5m) * 100} = 56. 4m




